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[B) kR e =) R IR i 2 T e ]

THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| T2 (BB
) e RE
= 1 17, 799, 936
LERhARAE T
= 1 16, 779, 524
RARBRAR T
(V5 FEFETHIIX (1))
= 1 3, 532, 480
A M () A CHD - (104</100m2 A Hi5)
m2 14, 000 210.1 2,941, 400
TR (ORERIR) ()
m2 3, 300 42. 22 139, 326
TR (ORERIR) (GRE )
m2 7, 200 42. 22 303, 984
TR (ORERIR) (18)
m2 3, 500 42. 22 147, 770
RARBRAR T
(V5 FEFETHIX (11))
= 1 2,611,812
AN () A CHD - (104</100m2 A i5)
m2 10, 200 210.1 2,143, 020
TR (ORERIR) ()
m2 2, 400 45. 96 110, 304
TR (ORERIR) (GRE )
m2 5, 300 45. 96 243, 588
TR (ORERIR) (18)
m2 2, 500 45. 96 114, 900
RARBRAR T
(f@He T4 AT HX)
= 1 681, 264
A M () A CHD - (104</100m2 AHi5)
m2 2,700 210.1 567, 270

SR e i KN i i LWk S




NN /2

i

£

[B) kR e =) R IR i 2 T e ]
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TR (ORERIR) ()
m2 600 42. 22 25, 332
TR (ORERIR) (GRE )
m2 1, 400 42. 22 59, 108
TR (ORERIR) (18)
m2 700 42. 22 29, 554
RARBRAR T
(ZHBTHIX (1))
= 1 756, 960
A M () A CHD - (104</100m2 A Hi5)
m2 3, 000 210.1 630, 300
TR (ORERIR) ()
m2 700 42. 22 29, 554
TR (ORERIR) (GRE )
m2 1, 500 42. 22 63, 330
TR (ORERIR) (18)
m2 800 42. 22 33,776
RARBRAR T
(ZZ BT HIX (1))
= 1 9,197, 008
A XM () A CHD - (104</100m2AHi5)
m2 3, 500 210.1 735, 350
TR (ORERIR) ()
m2 800 45. 96 36, 768
TR (ORERIR) (GRE )
m2 1, 800 45. 96 82,728
TR (ORERIR) (18)
m2 900 45. 96 41, 364
W5y ()
t 85 23,122 1, 965, 370
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THEXy « T - FER - 5 pso) FREAL K B G EHAm & M| TE (B ESM)
W5y (GRE )
t 186 23,122 4, 300, 692
WGy (GRE )
t 88 23,122 2,034, 736
Gan
= 1 1, 020, 412
ARmE T
= 1 1, 020, 412
N T AR
= 1 1, 020, 412
B TR
= 1 17, 799, 936
I L
= 1 979, 457
B3 TS
= 1 147, 057
BIGREsET (K3
= 1 147, 057
MR E (FEH L)
= 1 832, 400
Wi
= 1 18, 779, 393
B
= 1 4, 135, 181
T AT
= 1 27, 658, 365
— R
= 1 3, 741, 635
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HoOflf =%

THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
TS
= 1 31, 400, 000
THEBLF Y %H
= 1 3, 140, 000
TH#EG
= 1 34, 540, 000
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[B) kR e =) R IR i 2 T e ]

HoOflf =%

THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
) e RE
(R FFTTRAR AT HL X))
= 1 3,522, 938
LERhARAE T
= 1 3, 235, 498
RARBRAR T
(R FF TR AT HL X))
= 1 3, 235, 498
A M () A CHD - (104</100m2 A Hi5)
m2 6, 500 210.1 1, 365, 650
TR (ORERIR) ()
m2 1, 500 42. 22 63, 330
TR (ORERIR) (GRE )
m2 3, 400 42. 22 143, 548
TR (ORERIR) (18)
m2 1, 600 42. 22 67, 552
W5y ()
t 16 23,122 369, 952
W5y (GRE )
t 36 23,122 832, 392
W5y (GRE )
t 17 23,122 393, 074
G an
= 1 287, 440
RmE T
= 1 287, 440
N T 20AH
= 1 287, 440
B TR
= 1 3,522, 938
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[B) kR e =) R IR i 2 T e ]

HoOflf =%

THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
B:SElTE
= 1 230, 297
B3 TS
= 1 40, 695
BGmEsET (K30
= 1 40, 695
HIBGERE (FE L)
= 1 189, 602
Wi
= 1 3, 753, 235
B
= 1 990, 556
T AT
= 1 4, 743, 791
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